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Euklids Algorithmus

Von Dezimal nach Binär

121 : 2 = 60 Rest 1

60 : 2 = 30 Rest 0

30 : 2 = 15 Rest 0

15 : 2 = 7 Rest 1

7 : 2 = 3 Rest 1

3 : 2 = 1 Rest 1

1 : 2 = 0 Rest 1

12110 = 11110012

Sascha Frank Beispiel 3



Euklids Algorithmus

Von Dezimal nach Binär

121 : 2 = 60 Rest 1

60 : 2 = 30 Rest 0

30 : 2 = 15 Rest 0

15 : 2 = 7 Rest 1

7 : 2 = 3 Rest 1

3 : 2 = 1 Rest 1

1 : 2 = 0 Rest 1

12110 = 11110012

Sascha Frank Beispiel 3



Euklids Algorithmus

Von Dezimal nach Binär

121 : 2 = 60 Rest 1

60 : 2 = 30 Rest 0

30 : 2 = 15 Rest 0

15 : 2 = 7 Rest 1

7 : 2 = 3 Rest 1

3 : 2 = 1 Rest 1

1 : 2 = 0 Rest 1

12110 = 11110012

Sascha Frank Beispiel 3



Euklids Algorithmus

Von Dezimal nach Binär

121 : 2 = 60 Rest 1

60 : 2 = 30 Rest 0

30 : 2 = 15 Rest 0

15 : 2 = 7 Rest 1

7 : 2 = 3 Rest 1

3 : 2 = 1 Rest 1

1 : 2 = 0 Rest 1

12110 = 11110012

Sascha Frank Beispiel 3



Euklids Algorithmus

Von Dezimal nach Binär

121 : 2 = 60 Rest 1

60 : 2 = 30 Rest 0

30 : 2 = 15 Rest 0

15 : 2 = 7 Rest 1

7 : 2 = 3 Rest 1

3 : 2 = 1 Rest 1

1 : 2 = 0 Rest 1

12110 = 11110012

Sascha Frank Beispiel 3



Euklids Algorithmus

Von Dezimal nach Binär

121 : 2 = 60 Rest 1

60 : 2 = 30 Rest 0

30 : 2 = 15 Rest 0

15 : 2 = 7 Rest 1

7 : 2 = 3 Rest 1

3 : 2 = 1 Rest 1

1 : 2 = 0 Rest 1

12110 = 11110012

Sascha Frank Beispiel 3



Euklids Algorithmus

Von Dezimal nach Binär

121 : 2 = 60 Rest 1

60 : 2 = 30 Rest 0

30 : 2 = 15 Rest 0

15 : 2 = 7 Rest 1

7 : 2 = 3 Rest 1

3 : 2 = 1 Rest 1

1 : 2 = 0 Rest 1

12110 = 11110012

Sascha Frank Beispiel 3



Euklids Algorithmus

Von Dezimal nach Binär

121 : 2 = 60 Rest 1

60 : 2 = 30 Rest 0

30 : 2 = 15 Rest 0

15 : 2 = 7 Rest 1

7 : 2 = 3 Rest 1

3 : 2 = 1 Rest 1

1 : 2 = 0 Rest 1

12110 = 11110012

Sascha Frank Beispiel 3



Euklids Algorithmus

Von Dezimal nach Binär

121 : 2 = 60 Rest 1

60 : 2 = 30 Rest 0

30 : 2 = 15 Rest 0

15 : 2 = 7 Rest 1

7 : 2 = 3 Rest 1

3 : 2 = 1 Rest 1

1 : 2 = 0 Rest 1

12110 = 11110012

Sascha Frank Beispiel 3


	Euklids Algorithmus

